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is a keyword which can be used in a BMQL statement to return only the unique values
Response:

A. Distinct
B. Unique
C. Dedup

D. Group By

Answer: A

You want to run a Constraint rule only when an action is performed by a user. Which two options are
true?
Response:

A. You can implement the requirement by using a timer.

B. You can implement the requirement by invoking the Constraint rule from the action.

C. Constraint rules are Ajax-based and there is no option to disable Ajax in Commerce rules.
D. You can use the validation rules because it better servers the purpose

Answer: BC

Which Oracle CPQ Cloud product is intended for businesses with less than 500 employees?
Response:

A. BigMachines for the Cloud
B. CPQ Enterprise Cloud

C. BigMachine Enterprise

D. BigMachines CPQ Cloud

E. BigMachines Express

Answer: E
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You have implemented a Commerce Hiding rule, which has an Advanced action. While unit testing, you
find that the attributes specified in the rule are not getting hidden, even though the specified condition
evaluates to true.

What are two possible reasons for this behavior?

Response:

A. Config was not deployed after the rule was implemented.

B. Commerce was not deployed after the rule was implemented.
C. There is a syntax error in the Advanced condition.

D. The rule is inactive.

Answer: AC

Which one of the following is NOT part of product hierarchy?
Response:

A. Model

B. Part

C. Product Line
D. Product Family

Answer: B
Question: 6
What is the maximum number of groups that can be associated?
Response:
Al
B.2
C.5
D. No limit
Answer: D
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Which three Configuration rules support table-based lockups?
Response:

A. Constraint rule

B. Hiding rule

C. Recommendation rule

D. Recommended ltem rule
E. Configuration Flow rule

Answer: BDE

How can action buttons be hidden in Commerce?
Response:

A. by using Commerce hiding rule

B. by using Configuration hiding rules

C. by using profiles and steps in Commerce

D. By putting the action button bar on a hidden tab in commerce.

Answer: C

Which two statements are true about the integration of CPQ Cloud (without middleware) with external
ERP systems?
Response:

A. The ERP system should support exchange of XML data

B. CPQ Cloud can call ERP system without using BML

C. Web Services Definition Language (WSDL) can be used to build an XML request that is sent to ERP
systems.

D. You need two CPQ Cloud actions: one to send a request to an ERP system and another to receive a
valid response.

E. Calling an ERP system does not require authentication of any kind.

Answer: AC
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What is the size limit of an array attribute?
Response:

A. 350

B. 200

C. 1000

D. Unlimited

Answer: B
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